

Original Article



OPEN ACCESS

Impact of Aortic Cross-Clamp Duration on Early Post-Operative Outcomes Following Coronary Artery Bypass Grafting: A Cross-Sectional Study

Muhammad Shaheer Husnain Ali¹, Noor e Iman^{2*}, Muhammad Fawad Aalam³, Sameen Sadia Imtiaz², Tahir Mahmood Butt², Sidra Farooq⁴

¹ Punjab Institute of Cardiology, Lahore- Pakistan

² Combined Military Hospital, Kharian- Pakistan

³ Combined Military Hospital, Mardan- Pakistan

⁴ Dentistry and Allied Sciences (SMDAS) Pak Austria Fachhochschule Institute of Applied Sciences and Technology (PAF-IAST) Mang, Haripur- Pakistan

Article Info

Corresponding Author

Noor e Iman
Combined Military Hospital,
Kharian- Pakistan.
Email: noor.e.iman44@gmail.com

Date Received:

23rd February, 2026

Date Revised:

08th September, 2026

Date Accepted:

08th September, 2026



This article may be cited as:

Ali MSH, Iman NE, Aalam MF, Imtiaz SS, Butt TM, Farooq S. Impact of aortic cross-clamp duration on early post-operative outcomes following coronary artery bypass grafting: a cross-sectional study. J Postgrad Med Inst. 2026;40(3):97-103. <http://doi.org/10.54079/jpmi.40.3.3918>

Abstract

Objective: To evaluate the association between aortic cross-clamp duration and early post-operative outcomes in patients undergoing coronary artery bypass grafting (CABG).

Methodology: This cross-sectional study was conducted in Department of Cardiac Surgery Punjab Institute of Cardiology, Lahore, Pakistan, over a period of 6 months after obtaining ethical approval from the Institutional Review Board. A total of 190 patients aged 50–75 years who were admitted for elective CABG were included and classified into two cohorts according to aortic cross-clamp duration: low-risk (<75 minutes) and high-risk (≥75 minutes). Baseline demographic and clinical characteristics were measured. Patients were followed during the same hospital admission for early post-operative outcomes, including intensive care unit (ICU) stay, hospital stay, stroke and in-hospital mortality. Continuous variables were compared using the independent-samples t-test, while Fisher's exact test was used for categorical outcomes. A p-value ≤0.05 was considered statistically significant.

Results: Baseline demographic and clinical characteristics showed no statistically significant differences between the two groups. ICU stay and hospital stay were also comparable between groups. However, stroke occurred more frequently in the high-risk cohort than in the low-risk cohort (7.4% vs. 1.1%; p=0.030). In-hospital mortality was not significantly different between the high-risk and low-risk cohorts (8.4% vs. 5.3%; p=0.572).

Conclusion: Longer aortic cross-clamp duration was associated with a higher frequency of stroke among patients undergoing CABG, while early mortality, ICU stay and hospital stay remained comparable between the two cohorts. Careful perioperative monitoring and appropriate management of cross-clamp duration may help improve early post-operative outcomes.

Keywords: Coronary artery bypass grafting; Risk stratification; Elderly patients; Stroke; Post-operative outcomes

Introduction

Coronary artery disease (CAD) is one of the most leading causes of morbidity and mortality worldwide and represents a major public health issue, particularly in low socioeconomic countries.¹ The risk factors for increase prevalence of cardiovascular diseases are hypertension, diabetes mellitus, obesity and sedentary lifestyles etc. Consequently the number of patients are growing and requiring surgical revascularization procedures i.e. coronary artery bypass grafting (CABG).² It was introduced by René Favaloro, MD in 1960s. It continues to be a well-established treatment option for patients with multivessel coronary artery disease to improve symptoms and survival rate.³ With increasing life expectancy and better healthcare access, more older patients are having CABG, which makes evaluating their risks and early recovery important. During CABG surgery, temporary occlusion of the ascending aorta is done by using an aortic cross-clamp. It is commonly performed to provide a clear and controlled surgical field while protecting the myocardium with cardioplegia.⁴ The use of cross-clamping evolved with the development of cardiopulmonary bypass techniques in the mid of 20th century and became a standard part of on-pump cardiac surgery. Although essential for safe grafting procedures, the duration of cross-clamp time is clinically important because prolonged myocardial ischemia may influence neurological complications and early post-operative recovery. Therefore, evaluating outcomes in relation to cross-clamp exposure has gained increasing attention in contemporary cardiac surgery research.⁵

Recent global data showed that ischemic heart disease affects millions of individuals worldwide and responsible for a significant proportion of cardiovascular mortality each year. Epidemiological studies have shown that South Asian populations have a higher risk of developing atherosclerotic cardiovascular disease compared with many other regions.⁶ In Pakistan, CAD has emerged as a significant public health concern. According to local studies the prevalence of CAD is ranging from approximately one-quarter to over one-third of the adult population in certain urban areas. Rapid urbanization, smoking, metabolic disorders and limited awareness of preventive healthcare have contributed to this rising burden.⁷

Since long several clinical scoring systems and physiological indicators have been used to estimate surgical risk in patients undergoing cardiac procedures.⁸ Variables such as age, body mass index (BMI) and left ventricular function are commonly incorporated into risk assessment models because they reflect overall health status and cardiovascular reserve. Similarly, anthropometric indicators such as BMI may influence post-operative complications through their association with metabolic health and inflammatory status.⁹ Prolonged ICU admission not only reflects increased clinical complexity but a question mark on healthcare resources, especial-

ly in developing countries where critical care facilities may be limited.¹⁰ Neurological events, including stroke, remain among the most concerning complications following cardiac surgery because of their impact on functional independence, long term disability and overall healthcare costs.¹¹ Early death after surgery depends on conditions of patients, treatment during surgery and hospital care. Understanding how baseline risk profiles relate to these outcomes is therefore essential to improve clinical decision making and guiding preventive strategies at both individual and population levels.

In many developing countries, including Pakistan, there is limited locally generated evidence showing risk stratification and early outcomes among elderly CABG patients. Most available studies focus primarily on surgical techniques or biochemical markers, while fewer investigations address demographic and epidemiological determinants of recovery.¹² As patient populations, healthcare resources and disease patterns vary between regions. Locally generated data are important for guiding clinical practice and policy decisions. So, the purpose of this study was to evaluate the impact of aortic cross-clamp duration on early post-operative outcomes in patients undergoing coronary artery bypass grafting (CABG).

Methodology

This cross-sectional study was conducted at the Department of Cardiac Surgery Punjab Institute of Cardiology, Lahore, Pakistan over a period of 6 months from November 2022-April 2023 after obtaining ethical approval from the Institutional Review Board No: UHS/Education/126-22/5722. Inclusion criteria was patients aged 50-75 years who were admitted in the hospital for an elective CABG surgery and both male and female patients. Exclusion criteria included patients with acute or recent myocardial infarction, emergency surgical cases, patients younger than 50 years or older than 75 years and patients with chronic renal disease or chronic obstructive pulmonary disease. A total of 190 eligible patients who were planned for an elective CABG were included during the study period. Patients fulfilling the predefined inclusion criteria were enrolled via non-probability convenient sampling technique and followed. Following surgery, patients were classified into two groups (n=95) according to the aortic cross-clamp duration recorded during the operation. Patients with a cross-clamp duration of <75 minutes were considered the low-risk group (Group A), whereas those with a duration of ≥75 minutes were considered the high-risk group (Group B). Aortic cross-clamp duration was considered the primary exposure variable.

Baseline demographic and clinical characteristics, including age, height, weight, body mass index (BMI) and ejection fraction (EF) were recorded before surgery. Patients were then followed during the same hospital admission to assess early post-operative outcomes

e.g., duration of intensive care unit (ICU) stay, length of hospital stay, stroke (based on clinical assessment and documented neurological diagnosis in the patient's medical records) and in-hospital mortality (death occurring during the same hospital admission).

Statistical Analysis

Data was analyzed using SPSS version 25. Quantitative variables were expressed as mean $\pm$ standard deviation (SD) and categorical variables were presented as frequencies and percentages. Independent-samples t-test was used to compare continuous variables between the groups. Fisher's exact test was used to compare categorical outcomes e.g., stroke and in-hospital mortality. A p-value ≤ 0.05 was considered statistically significant.

Results

A total of 190 patients undergoing elective coronary artery bypass grafting (CABG) were included in the study. Based on the recorded aortic cross-clamp duration, 95 patients were classified into the low-risk group (<75 minutes; Group A) and 95 patients into the high-risk group (≥ 75 minutes; Group B).

Discussion

Our study evaluated the impact of aortic cross-clamp duration on early post-operative outcomes among patients undergoing coronary artery bypass grafting (CABG). Results of baseline characteristics e.g., age, height, weight, BMI and ejection fraction are shown in Table 1. Comparative analysis showed non-significant differences ($p > 0.05$) between the two groups, indicat-

ing similar preoperative risk profiles. Including participants with similar baseline characteristics helped to remove these major confounding factors and increased the validity of the results.

Similar results have been reported in other observational studies by Zhang et al., who compared CABG outcomes among patient groups with different baseline characteristics and evaluated their association with in-hospital outcomes and adverse events.¹³

In this study, measures of healthcare use, such as ICU stay and hospital stay did not differ significantly between groups (Table 2). These findings suggest that differences in cross-clamp duration were not associated with a significant increase in early healthcare utilization in the present cohort. Study of Jain et al. has also shown that improvements in anesthesia techniques, post-operative monitoring and early mobilization strategies have contributed to accelerate the durations of recovery, despite increasing surgical complexity.¹⁴ Similarly, Hijazi reported comparable perioperative outcomes among CABG patients managed within an optimized perioperative care setting.¹⁵

Despite similar healthcare utilization outcomes, a higher frequency of stroke was observed among patients with longer cross-clamp duration (Table 3A). Neurological complications remain one of the most serious concerns after cardiac surgery because they are associated with long-term disability, reduced quality of life and increased healthcare burden.¹⁶ Previous literature from the study of Shu et al. has highlighted that elderly patients are particularly vulnerable to perioperative neurological events due to age-related vascular changes and preexisting atherosclerosis.¹⁷ A study by Islam et al. conducted in cardiac centers of Lady Reading Hos-

Table 1. Baseline Demographic and Clinical Characteristics of the Study Groups

Variable	Group A(n=95) Mean $\pm$ SD	Group B(n=95) Mean $\pm$ SD	p-value
Age (years)	59.82 $\pm$ 6.73	57.45 $\pm$ 6.36	0.321
Height (cm)	166.8 $\pm$ 7.66	166.3 $\pm$ 10.78	0.720
Weight (kg)	73.06 $\pm$ 11.30	73.52 $\pm$ 12.55	0.790
BMI (kg/m ²)	26.28 $\pm$ 3.85	28.20 $\pm$ 14.91	0.230
Ejection Fraction (%)	48.84 $\pm$ 10.53	46.74 $\pm$ 10.36	0.166

Independent-samples t-test was used.

Table 2. Early Post-Operative Outcomes and Healthcare Utilization

Variable	Group A(n=95) Mean $\pm$ SD	Group B(n=95) Mean $\pm$ SD	p-value
ICU Stay (days)	4.78 $\pm$ 3.26	5.36 $\pm$ 3.49	0.239
Hospital Stay (days)	12.54 $\pm$ 7.37	12.53 $\pm$ 6.26	0.992

Independent-samples t-test was used.

Table 3. Comparison of Early Morbidity and In-hospital Mortality

3A — Stroke			
Stroke	Group A (n=95) (%)	Group B (n=95) (%)	p-value
Yes	1 (1.1%)	7 (7.4%)	0.030
No	94 (98.9%)	88 (92.6%)	
Total	95 (100%)	95 (100%)	
3B — Mortality	Group A (n=95) (%)	Group B (n=95) (%)	p-value
Yes	5 (5.3%)	8 (8.4%)	0.572
No	90 (94.7%)	87 (91.6%)	
Total	95 (100%)	95 (100%)	

Fisher's exact test was used for categorical comparisons.

pital, KPK, Pakistan have reported that postoperative stroke rates ranging from 2- 5%, with higher incidence observed in patients exposed to longer operative durations or greater perioperative along with older age.¹⁸ These findings align with the results of the present study and emphasize the importance of careful neurological monitoring and preventive strategies in elderly populations undergoing CABG. A possible mechanism linking prolonged cross-clamp duration with increased stroke risk is the longer exposure to cardiopulmonary bypass and myocardial ischemia, which may contribute to cerebral hypoperfusion and inflammatory or embolic events. Patients with underlying vascular disease may be particularly susceptible to these neurological effects during prolonged cardiac surgery.

The absence of a statistically significant difference in in-hospital mortality between groups is another important finding (Table 3B). Early mortality after CABG is known to be influenced by multiple factors, including patient comorbidities, perioperative management and institutional expertise.¹⁹ Many studies have shown that while surgical factors may affect complication rates, their direct effect on early mortality has reduced over time because of better surgical techniques and improved postoperative care.^{20,21} This may partly explain the comparable mortality observed between the groups in the present study. From a public health perspective, these findings highlight the importance of maintaining effective perioperative care and continuous quality improvement in cardiac surgical services.²²

Perioperative assessment remains an important part of surgical planning and management of healthcare resources, particularly in patients undergoing CABG who may require closer monitoring because of their clinical and physiological characteristics. Age, body mass index and ejection fraction are widely recognized indicators of baseline health status and have been incorporated into several predictive models used in cardiac surgery. Although these variables were similar between groups

in the current study, their inclusion in risk assessment frameworks remains important to identify the high risk individuals and to guide in clinical decision making.²³ In developing countries, including Pakistan, locally generated evidence on CABG outcomes remains important for improving patient care and resource planning. The present study provides local data regarding the relationship between cross-clamp duration and early post-operative outcomes. These findings may assist clinicians in identifying patients who require closer neurological monitoring and appropriate perioperative management. As the number of older patients undergoing CABG increases, continued evaluation of modifiable perioperative factors may help improve surgical safety and patient outcomes.

This study was conducted at a single center with a relatively limited sample size, which may reduce the generalizability of the results to other populations. The analysis focused on early post-operative outcomes only and did not include long-term follow up. In addition, potential confounding factors such as diabetes mellitus, hypertension, extent of coronary artery disease, number of grafts, cardiopulmonary bypass (CPB) time and surgeon variability were not adjusted for in the analysis. Therefore, their possible influence on the observed outcomes cannot be excluded. Future multi-center studies with larger sample sizes and longer follow up periods are recommended to further evaluate the relationship between aortic cross-clamp duration and post-operative outcomes in patients undergoing CABG.

Conclusion

In this study, patients undergoing CABG with longer aortic cross-clamp duration showed a higher frequency of stroke, while early mortality and healthcare use measures such as ICU stay and hospital stay remained comparable between groups. Baseline demographic

and clinical characteristics were generally similar between the two cohorts. These findings highlight the importance of careful perioperative monitoring and appropriate management of aortic cross-clamp duration to improve early post-operative outcomes in patients undergoing cardiac surgery.

References

- Shahjehan RD, Sharma S, Dababneh E, Bhutta BS. Coronary artery disease. Treasure Island: StatPearls Publishing; 2026. Available from: <https://www.ncbi.nlm.nih.gov/books/NBK564304/>
- Siam NH, Snigdha NN, Tabasumma N, Parvin I. Diabetes mellitus and cardiovascular disease: exploring epidemiology, pathophysiology, and treatment strategies. *Rev Cardiovasc Med* 2024;25(12):436. DOI: 10.31083/j.rcm2512436.
- Ramsingh R, Bakaeen FG. Coronary artery bypass grafting: practice trends and projections. *Cleve Clin J Med* 2025;92(3):181-91. DOI: 10.3949/ccjm.92a.23071.
- Cullen P, Malas T, Gillinov M. Robotic mitral valve repair: patient positioning and port placement in male patients. *Multimed Man Cardiothorac Surg* 2025;2025:mmcts.2025.096. DOI: 10.1510/mmcts.2025.096.
- Dayi HI, Calik ES, Birdal O, Aydin ME, Borulu F, Yildiz Z, et al. Effect of aortic cross-clamping time on development of postoperative atrial fibrillation in isolated CABG: a single-center prospective clinical study. *Braz J Cardiovasc Surg* 2023;38(4):e20220458. DOI: 10.21470/1678-9741-2022-0458.
- Nammi JY, Pasala R, Kotaru S, Bandikolla SS, Andhe N, Gouravaram PR. Cardiovascular disease prevalence in Asians versus Americans: a review of genetics, diet, and the call for enhanced prevention and screening. *Cureus* 2024;16(4):e58361. DOI: 10.7759/cureus.58361.
- Khayyam U, Rayan M, Hussain Adil I. Prevalence of Cardiovascular Disease (CAD) due to industrial air pollutants in the proximity of Islamabad Industrial Estate (IEI), Pakistan. *PLoS One* 2024;19(7):e0300572. DOI: 10.1371/journal.pone.0300572.
- Mahmood SR, Lobo SA, Fischer S. Cardiac risk assessment. Treasure Island: StatPearls Publishing; 2026. Available from: <https://www.ncbi.nlm.nih.gov/books/NBK537146/>
- Erdogan O, Erdogan T, Onur NH, Ozkok S, Karan MA, Bahat G. Beyond BMI: central obesity measures and cardiovascular risk in late life. *Aging Clin Exp Res* 2025;37(1):287. DOI: 10.1007/s40520-025-03197-z.
- Demir Aydemir F, Kurtkulagi O, Ergun B, Bayrak V, Oner O, Comert B, et al. ICU admission delays: impact on length of stay and long-term outcomes. *Biomol Biomed* 2025;26(3):499-508. DOI: 10.17305/bb.2025.12888.
- Asta L, Falco D, Benedetto U, Porreca A, Majri F, Angelini GD, et al. Stroke after cardiac surgery: a risk factor analysis of 580,117 patients from UK National Adult Cardiac Surgical Audit cohort. *J Pers Med* 2024;14(2):169. DOI: 10.3390/jpm14020169.
- Farogh A, Izhar N, Niaz I, Iqbal O. Early outcome of coronary artery bypass grafting in obese and non-obese patients. *Ann PIMS Shaheed Zulfiqar Ali Bhutto Med Univ* 2023;19(1):16-9. DOI: 10.48036/apims.v19i1.765.
- Zhang RJZ, Yu XY, Wang J, Lv J, Yu MH, Wang L, et al. Comparison of in-hospital outcomes after coronary artery bypass graft surgery in elders and younger patients: a multicenter retrospective study. *J Cardiothorac Surg* 2023;18:53. DOI: 10.1186/s13019-023-02163-y.
- Jain SN, Lamture Y, Krishna M. Enhanced recovery after surgery: exploring the advances and strategies. *Cureus* 2023;15(10):e47237. DOI: 10.7759/cureus.47237.
- Hijazi E. Investigating outcomes of coronary artery bypass graft surgery: a single-center retrospective study in Jordan. *Future Sci OA* 2024;10(1):2430902. DOI: 10.1080/20565623.2024.2430902.
- Bowden T, Magboo R, Navales V. Managing common neurological complications following cardiac surgery. *Nurs Stand* 2023;38(12):43-50. DOI: 10.7748/ns.2023.e12034.
- Shu L, Aziz YN, de Havenon A, Messe SR, Nguyen TN, Sur NB, et al. Perioperative stroke: mechanisms, risk stratification, and management. *Stroke* 2025;56(9):2798-809. DOI: 10.1161/STROKEAHA.125.051673.
- Islam N, Iqbal M, Malik A, Shah SA, Wazir IM, Mohibullah S. Incidence risk of stroke after coronary artery bypass grafting (CABG). *Khyber J Med Sci* 2022;15(2):93-8. DOI: 10.70520/kjms.v15i2.377.
- Hardiman SC, Villan Villan YF, Conway JM, Sheehan KJ, Sobolev B. Factors affecting mortality after coronary bypass surgery: a scoping review. *J Cardiothorac Surg* 2022;17:45. DOI: 10.1186/s13019-022-01784-z.
- Bayissa BB, Mummud M, Miressa F, Fekadu G. Postoperative complications and associated factors among surgical patients treated at a tertiary hospital, Eastern Ethiopia: a prospective cohort study. *Open Access Surg* 2021;14:37-46. DOI: 10.2147/OAS.S320506.
- Javed H, Olanrewaju OA, Ansah Owusu F, Saleem A, Pavan P, Tariq H, et al. Challenges and solutions in post-operative complications: a narrative review in general surgery. *Cureus* 2023;15(12):e50942. DOI: 10.7759/cureus.50942.
- Hafiz N, Hyun K, Tu Q, Manandi D, Shi W, Usherwood T, et al. Effectiveness of quality improvement interventions in improving cardiovascular disease-related outcomes in primary and tertiary care: a systematic review and meta-analyses. *BMC Prim Care* 2025;26:366. DOI: 10.1186/s12875-025-03006-6.
- Pham HM, Nguyen AP, Nguyen HTT, Nguyen TN, Nguyen TX, Nguyen TTH, et al. The frail scale: a risk stratification tool in older patients with acute coronary syndrome. *J Multidiscip Healthc* 2023;16:1521-9. DOI: 10.2147/JMDH.S409535.

Authors' Contribution Statement

MSHA contributed to the conception, design, acquisition, analysis, interpretation of data, drafting of the manuscript, critical review of the manuscript, and final approval of the version to be published. NEI contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. MFA contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. SSI contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. TMB contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. SF contributed to the acquisition, analysis, interpretation of data, and drafting of the manuscript. All authors are accountable for their work and ensure the accuracy and integrity of the study.

Conflict of Interest

Authors declared no conflict of interest

Grant Support and Financial Disclosure

None

Data Sharing Statement

The data that support the findings of this study are available from the corresponding author upon reasonable request.